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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’,

"FVIPH:r-0o’,

"PHI :g—o’ 1]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-4 0
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634 BT | SEBEKG)) | Eges (BA/F) | ERes (5/R) | K= ET
06:35 125 80.0 17.28 FA| H#17006:35 KEIEF (KRAHERKSE)
07:05 125 80.0 17.28 A FiHA@07:05 KREFEF CREAEZEES)
07:50 125 80.0 17.28 i Fi#A@07:50 KRENFEF (REEREE)
08:25 125 80.0 17.28 1] FiEH@08:25 REFEF (KEERE)
08:55 125 80.0 17.28 ] 7iH@08:55 REFEF (KFERE)
09:25 125 80.0 17.28 FA FiHA@09:25 RAIEF CRAEZEES)
09:55 125 80.0 17.28 e FiE@09:55 RHEFEF (KEERE)
10:25 125 80.0 17.28 ;] FHfe10:25 REFEF (REERES)
10:55 125 80.0 17.28 3] Fi#A@10:55 KRENFEF (REAEREE)
11:25 125 80.0 17.28 1] FigAe11:25 REFEF CGREERE)
11:55 125 80.0 17.28 A TiEf@11:55 RETEF (REERSE)
12:25 125 80.0 17.28 3] FifAe12:25 KREIEF GREAERSE)
12:55 125 80.0 17.28 Iz FifA@12:55 KREFEF (GREAERE)
13:25 125 80.0 17.28 5] FHR@13:25 RHIEF (KAEEESE)
13:55 125 80.0 17.28 5] FiHe13:55 KEFEFE (RAEREE)
14:25 125 80.0 17.28 55 FifAe14:25 KREFEF (GREAERE)
14:55 125 80.0 17.28 5] FilHe14:55 KREBFE (GREAEBRSE)
15:25 125 80.0 17.28 5] FiHpe15:25 KEFEFE (REAERSE)
15:55 125 80.0 17.28 55 FifA@15:55 KRENFEF (GREAEREE)
16:25 125 80.0 17.28 53] FilRe16:25 KREEFE (KREAEBRSE)
16:55 125 80.0 17.28 53] TiE@16:55 REFEF (RKAERE)
17:25 125 80.0 17.28 3] FifAe17:25 KREIEF (GREAERE)
Bit] 2750.0 (22)%) 1760.0 3203 KEC: 1800.0, PH: 6.5

FERGERIPH (10.37) 5i&EPH (6.5) REK K, AT
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HEEIRECE (1823.0 vs 2500.0) RS




FRV (ml plant-1)

ET (ml/hr/plant)

G3-4_0, Day=19 (2025-05-31)
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G3-4

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

07:05 92 80.0 17.28 FA| 1Ri%@07:05 B3 (KAHEREE)
07:40 92 80.0 17.28 FH| 1RRi%@07:40 Bz (REAERESE)
08:30 92 80.0 17.28 FH| 1RRi%@08:30 B (AR
09:20 92 80.0 17.28 FA| 1BRi%@09:20 B3h (KA{EREE)
10:10 92 80.0 17.28 FH| 1BRi&@10:10 Bzh (GRAEREE)
10:50 92 80.0 17.28 FE| 1RRi&@10:50 Bz (RS
11:25 92 80.0 17.28 FA| {Ri%e@11:25 Bz GGRAEEE)
12:00 92 80.0 17.28 FA| 1BRi%@12:00 B3h (kAEREE)
12:30 92 80.0 17.28 FE| 1Ri&@12:30 B (RAERSE)
13:05 92 80.0 17.28 FA| {Ri%@13:05 Bz (GkAEEE)
13:35 92 80.0 17.28 FA| 1RRi%@13:35 B3h (KRAHERESE)
14:15 92 80.0 17.28 FE| 1Ri&e14:15 B (REAERSE)
15:05 92 80.0 17.28 FA| {Ri%@15:05 Bz (GkAEEE)
15:55 92 80.0 17.28 FA| 1BRi&@15:55 B3h (KRAERESE)
16:50 92 80.0 17.28 FE| 1Ri%@16:50 B (RAERESE)
21t+] 1380.0 (15)%) 1200. 0 3203 KEC: 1800.0, PH: 6.5
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LORGEBIPH (10.4) 5i1&EE (6.5) wERK, BRE.
LORGEBIPH (10.4) S5#AE (6.5) REHKK, BHRE.



G3-4_0, Day=18 (2025-05-30)
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06:35 91 80.0 17.28 F|  {Ri%006:35 Bz (RF{ESE
07:10 91 80.0 17.28 F[ BRige07:10 Ba1 (GRAERSE)
08:15 91 80.0 17.28 = {RRiB008:15 B (RFAKEE)
09:00 91 80.0 17.28 (Z=| {Ri%@09:00 Bz (FEAHERHSE)
09:40 91 80.0 17.28 (% =| 1BRi&e09:40 Bzh (REERSE)
10:15 91 80.0 17.28 | =| 1Ri%e10:15 Bz (kAEREEE)
10:50 91 80.0 17.28 (2 =| 1Ri%@10:50 Bz (REAFEHSR)
11:25 91 80.0 17.28 | =| 1Rige11:25 Bzh (REAHERESE)
12:10 91 80.0 17.28 |2 =| 1Ri%e12:10 Bz (GkAEREEE)
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14:25 91 80.0 17.28 E| {Rige14:25 Bzh (GREERSE)
15:00 91 80.0 17.28 5| {Ri%e15:00 B3 (RAERSE)
15:30 91 80.0 17.28 =l RRiB@15:30 B (RFAEESE)
16:15 91 80.0 17.28 | =| 1BRige16:15 Bzh (RBEREEE)
17:10 91 80.0 17.28 FA| 1Bi%@17:10 B3h (kBEREE)
Bit] 1547.0 (17%) 1360. 0 JEWHKEC: 1863.0, PH: 6.5

ERGEB AT CRIRIERIZIL (91 vs 119.0))
ZRIASEPREBRE61. 0 ml.

REXFEBPH (10.28) 5i&%EPH (6.5) RER K, HFHRE
REXEEBPH (10.28) 5FMIPH (6.5) REKKA, BFHRE
HEEKECE (1938.0 vs 3305.0) i35

ERGEBIPH (10.4) 5i8EME (6.5 RERKK, BHRE.
ERGEBIPH (10.4) S5EREW (6.5 RERK, HRE.
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BfiE) | GEBATK (RY) | ERE (EA/K) | ERERE (B/R) | XS R

06:35 88 80.0 17.28 5 B2i%@06:35 Bz (RFAEREE)
07:10 88 80.0 17.28 5 B1&@07:10 B3h (KRBERSE)
08:00 88 80.0 17.28 = 1B21%@08:00 B3h (kBIEREE)
08:45 88 80.0 17.28 5 B2i%@08:45 Bz (RFAEREE)
09:25 88 80.0 17.28 5 B218@09:25 Bz (FEERSE)
10:00 88 80.0 17.28 = B2i%@10:00 B3h (kBEREE)
10:40 88 80.0 17.28 5 B2i%@10:40 Bzh (RPBEREE)
11:15 88 80.0 17.28 5 Bige11:15 Bz (REAERSE)
11:55 88 80.0 17.28 5 B2ig@11:55 Bz (REEREE)
12:40 88 80.0 17.28 5 Bi%@12:40 Bzh (RPBEREE)
13:15 88 80.0 17.28 5 Bige13:15 Bz (REBERSE)
13:45 88 80.0 17. 28 5 Bi18@13:45 B3h (KRBERSE)
14:15 88 80.0 17.28 5 Bige14:15 Bzh (kBEREE)
14:45 88 80.0 17.28 5 Bige14:45 Bz (REAEREE)
15:20 88 80.0 17. 28 5 Bige15:20 Bzh (KRBERKSE)
15:55 88 80.0 17.28 5 B2i%@15:55 B3 (kBEREE)
16:30 88 80.0 17.28 5 Bi%@16:30 Bz (RFAEREE)
17:10 88 80.0 17.28 5 Bige17:10 Bzh (KRBERSE)
2it] 1584.0 (18)%) 1440.0 32053 KEC: 2068. 2000000000003, PH: 6.5

LOREBRTC R IR BRI (88 vs 119.0))

EXIASEPRIEBES9. 0 ml.
REXREMIPH (10.34) 5i&%EPH (6.5) REK K, HHE
REXEBPH (10.34) 5FMPH (6.5) REKKA, BFHRE
HEEKRECE (1990. 0 vs 3375.0) 35

ERGEBIPH (10.2) 5iREME (6.5 RERKK, BHRE.

ERGERPH (10.2) S5iRBIE (6.5) RERK, BRE.
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m=360, FV0=0 m=415, FV0=0 m=495, FV0=0
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